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1 it B & 318 8 2.5 0 0 0.0
2 g2 & &8 6 0 0.0 389 7 1.8
3 2 F B 148 5 3.4 190 5 2.6
4 R A - 31 3 9.7 1,823 25 1.4
5 ' m@Bm B 155 5 3.2 198 0 0.0
6 T 386 3 0.8 0 0 0.0
7 7= B B 32 0 0.0 171 1 0.6
8 *x W B 989 11 1.1 0 0 0.0
9 wm K B 277 1 0.4 38 0 0.0
10 # E B 683 2 0.3 0 0 0.0
11  E B 1,657 8 05 12 0 0.0
12 F T B 3,052 15 05 188 3 1.6
13 B R # 199 4 2.0 0 0 0.0
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24 = B B 876 7 0.8 224 0 0.0
25 # B B 602 1 0.2 2 0 0.0
26 = # 217 2 0.9 51 2 3.9
27 X R 531 11 2.1 18,686 156 0.8
28 E E B 521 4 0.8 2,177 10 0.5
29 Z= B =4 182 0 0.0 3 0 0.0
30 M F L B 103 1 1.0 67 0 0.0
31 E I B 196 1 0.5 17 0 0.0
32 E B B 101 3 3.0 703 14 2.0
33 m o B 130 1 0.8 144 1 0.7
34 L 5 B 16 0 0.0 3,633 37 1.0
35 t a ! 66 2 3.0 10,873 59 0.5
36 - 281 6 2.1 0 0 0.0
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48 L 0 0 0.0 54,412 672 1.2
49 i & ™ 29 0 0.0 5,219 61 1.2
50 W= FTh 614 3 0.5 17,883 141 0.8
51 F E T 58 1 1.7 0 0 0.0
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54 HHEBE R T 0 0 0.0 164 10 6.1
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64 L B F 122 0 0.0 8,743 60 0.7
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66 2 B th 455 6 1.3 13,497 191 14
67 EE-- 199 10 5.0 0 0 0.0
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69 F HF F 127 1 0.8 1,671 16 1.0
70 B R h 30 0 0.0 0 0 0.0
71 M H TH 118 2 1.7 0 0 0.0
72 A WL T 47 1 2.1 0 0 0.0
73 W h & 1 120 0 0.0 0 0 0.0
74 F HE H 188 1 0.5 0 0 0.0
75 B B h 142 0 0.0 0 0 0.0
76 I # 913 4 0.4 1,744 6 0.3
77 W B h 107 3 2.8 0 0 0.0
78 8 Hh 561 1 0.2 1,307 12 0.9
79 B EBEE M 249 5 2.0 0 0 0.0
80 2 W T 45 1 2.2 6 0 0.0
81 £ R ™ 57 0 0.0 175 2 1.1
82 E B | 58 1 1.7 0 0 0.0
83 I B 77 1 1.3 87 2 2.3
84 2 B T 264 1 0.4 36 2 5.6
85 M B T 92 0 0.0 0 0 0.0
86 £ H 1! 380 2 0.5 397 6 15
87 X _#F H 134 0 0.0 2 0 0.0
88 =5 # h 23 0 0.0 0 0 0.0
89 B KR h 191 0 0.0 0 0 0.0
90 O 22 2 9.1 9 0 0.0
91 E B T 223 2 0.9 36 1 2.8
92 wm = h 116 1 0.9 11 0 0.0
93 = B 1 35 1 2.9 24 0 0.0
94 M B oWLmh 96 1 1.0 126 1 0.8
95 2 B th 165 1 0.6 10 0 0.0
96 2 W h 1,340 25 1.9 157 7 45
97 T B 1 239 3 1.3 63 1 1.6
98 5 ¥ th 65 1 15 178 5 2.8
99 7o 340 2 0.6 129 1 0.8
100 =5 ®M 84 2 24 1,541 8 0.5
101 A B Xkt 37 1 2.7 1,567 15 1.0
102 E & 195 0 0.0 3,700 54 15
103 BE A 1H 248 10 40 120 3 25
104 X » 1 254 4 1.6 47 1 2.1
105 = B T 230 3 1.3 0 0 0.0
106 BE IR B 822 6 0.7 0 0 0.0
107 N 57 0 0.0 420 5 1.2
108 N 0 0 0.0 186 0 0.0
109 B R Th 25 0 0.0 0 0 0.0
110 q B th o 489 4 0.8 222 5 2.3
111 ] il 77 1 1.3 729 16 2.2
112 X & H 0 0 0.0 1,191 1 0.1
113 i t#H & h 26 1 3.8 1,192 16 1.3
RERRET 22,049 206 0.9 184,720 1,998 1.1
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114 F R A X 398 1 0.3 0 0 0.0
115 b R X 24 0 0.0 0 0 0.0
116 & X 0 0 0.0 0 0 0.0
117 1 ' X 130 2 15 0 0 0.0
118 X ZE X 32 0 0.0 0 0 0.0
119 5 ®H X 398 3 0.8 0 0 0.0
120 £2 H K 0 0 0.0 100 0 0.0
121 dI B X 90 3 3.3 0 0 0.0
122 &)l K 123 0 0.0 784 13 1.7
123 H E R 113 4 3.5 0 0 0.0
124 X H K 0 0 0.0 56 2 3.6
125 H H A KX 0 0 0.0 135 2 15
126 B K 17 0 0.0 0 0 0.0
127 - 100 4 40 0 0 0.0
128 2 i X 62 0 0.0 0 0 0.0
129 2 B X 81 3 3.7 185 3 1.6
130 it X 46 0 0.0 138 2 14
131 = )l K 4 0 0.0 275 8 2.9
132 R B X 83 1 1.2 0 0 0.0
133 #w E X 0 0 0.0 0 0 0.0
134 BE I K 78 1 1.3 11 2 18.2
135 2 _fi KX 0 0 0.0 251 6 24
136 IR JII X 2,907 37 1.3 0 0 0.0
BRI X 5t 4,686 59 1.3 1,935 38 2.0
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6 1] i3 = 332 1 0.3 0 0 0.0
7 & =) g2 32 0 0.0 171 0 0.0
8 B/ P [ 986 11 1.1 0 0 0.0
9 m K & 273 4 15 40 0 0.0
10 i 5 g2 534 7 1.3 0 0 0.0
11 i EF B 1,567 14 0.9 12 0 0.0
12 F E B 3,042 15 0.5 180 3 1.7
13 D = £ 198 3 1.5 0 0 0.0
14 W= B 99 5 5.1 5 0 0.0
15 b3l o =g 218 1 0.5 10 0 0.0
16 = 0] g2 152 0 0.0 9 0 0.0
17 a 2 274 0 0.0 1,334 5 0.4
18 B H B 195 0 0.0 58 2 3.4
19 1] el g2 496 2 0.4 0 0 0.0
20 £ 5 = 88 1 1.1 0 0 0.0
21 g B 8 193 2 1.0 33 2 6.1
22 &% [z g2 282 8 2.8 152 2 1.3
23 ZF M 2 688 7 1.0 85 7 8.2
24 = = =4 903 4 0.4 224 9 4.0
25 ¥ B g2 601 0 0.0 2 0 0.0
26 W # A 214 2 0.9 51 1 2.0
27 X B A 534 7 1.3 18,686 161 0.9
28 E E B 482 2 0.4 2,193 11 0.5
29 Z= B [ 183 0 0.0 3 0 0.0
30 M ;W B 107 0 0.0 69 5 7.2
31 5 W ! 203 2 1.0 17 0 0.0
32 5 i [ 106 2 1.9 710 16 2.3
33 fit] 1] ] 130 3 2.3 144 7 4.9
34 I 5 g2 16 0 0.0 4418 19 0.4
35 ] ] [ 67 2 3.0 10,873 93 0.9
36 g 5 ] 284 2 0.7 0 0 0.0
37 F 2 37 1 2.7 75 0 0.0
38 = 1% = 94 2 2.1 44 1 2.3
39 = ] 7 0 0.0 917 9 1.0
40 12 [i#] g 328 7 2.1 1,914 55 2.9
41 ' =B [ 59 1 1.7 3,772 63 1.7
42 E B B 225 0 0.0 517 9 1.7
43 RE Z g 506 20 40 287 8 2.8
44 X v = 183 9 49 10 0 0.0
45 - 269 3 1.1 145 3 2.1
46 E R B8 B 63 1 1.6 824 6 0.7
47 ; bt 2 0 0 0.0 0 0 0.0
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48 L 0 0 0.0 55,396 180 0.3
49 iw & 1w 29 0 0.0 5,232 37 0.7
50 W= FTh 604 2 0.3 18,163 104 0.6
51 F E T 58 3 5.2 0 0 0.0
52 B E T 0 0 0.0 9,788 85 0.9
53 T 135 0 0.0 9,100 76 0.8
54 HHEBE R T 0 0 0.0 164 3 1.8
55 H B 584 0 0.0 8,546 27 0.3
56 % M T 529 3 0.6 5,632 93 1.7
57 E O T 524 2 0.4 83 1 1.2
58 Z o B W 754 5 0.7 18,552 130 0.7
59 m & h 1,991 34 1.7 0 0 0.0
60 XK B 1 295 13 4.4 0 0 0.0
61 %] (il 199 1 0.5 8,982 91 1.0
62 #wm F 1 800 15 1.9 173 2 1.2
63 FENTG 18 1 5.6 141 5 3.5
64 L B 1 122 2 1.6 10,518 59 0.6
65 &t o H 0 0 0.0 6,720 128 1.9
66 2 B th 455 6 1.3 13,497 155 1.1
67 EE-- 194 1 0.5 0 0 0.0
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69 F HF F 117 0 0.0 1,675 10 0.6
70 B R h 30 0 0.0 0 0 0.0
71 M B TH 119 8 6.7 0 0 0.0
72 T 47 0 0.0 0 0 0.0
73 W h & 1 120 0 0.0 0 0 0.0
74 F HE H 189 0 0.0 0 0 0.0
75 B B h 144 1 0.7 0 0 0.0
76 I # th 910 3 0.3 1,746 13 0.7
77 W B h 107 1 0.9 0 0 0.0
78 8 Hh 563 0 0.0 1,307 2 0.2
79 B EBEE M 249 1 0.4 0 0 0.0
80 g W T 44 0 0.0 6 0 0.0
81 £ R ™ 57 1 1.8 175 0 0.0
82 E B | 59 0 0.0 0 0 0.0
83 I B 77 1 1.3 87 4 4.6
84 2 B T 263 1 0.4 36 2 5.6
85 M B T 88 3 3.4 0 0 0.0
86 £ H 1! 379 2 0.5 397 6 15
87 X #F 1h 133 1 0.8 0 0 0.0
88 =5 # h 23 0 0.0 0 0 0.0
89 B KR h 197 3 15 0 0 0.0
90 O 22 0 0.0 9 0 0.0
91 E B T 223 4 1.8 36 1 2.8
92 wm = h 123 0 0.0 11 0 0.0
93 = B 1 35 0 0.0 24 0 0.0
94 M B oW mh 88 1 1.1 129 2 1.6
95 2 B th 113 1 0.9 11 0 0.0
96 /£ W 1,340 3 0.2 157 1 0.6
97 T B 1 240 1 0.4 63 0 0.0
98 5 ¥ th 65 2 3.1 178 0 0.0
99 7o 338 2 0.6 129 4 3.1
100 =5 ®M 86 0 0.0 1,557 6 0.4
101 A B ¥ 1 39 0 0.0 1,567 34 2.2
102 E & 195 1 0.5 3,706 27 0.7
103 BE A 1h 247 11 45 127 6 47
104 X H» 1 254 1 0.4 47 0 0.0
105 = B W 236 0 0.0 0 0 0.0
106 BE IR B 795 4 0.5 0 0 0.0
107 I H 57 1 1.8 422 2 05
108 N 0 0 0.0 186 2 1.1
109 B R Th 25 1 40 0 0 0.0
110 B &fh 495 2 0.4 222 2 0.9
111 ] il 77 2 2.6 732 10 14
112 X & H 0 0 0.0 1,191 1 0.1
113 i t#H & h 25 1 4.0 1,193 6 0.5
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(1) 40i%1R52 (AR EMT IR )

ER22FFE BEFRVAIABEEERIGE

HBsiiEBREBEIZE VTR £ &F X

*t e B|Z 2 BlIGHEI1EHIESNT-F (%)

(AN) (AN) (N) C
A A B (B~ A X100)
1 it piir B 43,526 847 12 1.4
2 = x 2 9,292 515 6 1.2
3 =) F =} 11,651 1,033 10 1.0
4 = 3k =} 30,649 1,468 12 0.8
5 N H IR 11,835 554 4 0.7
6 L i =} 12,329 557 4 0.7
7 & 5 2 30,543 996 7 0.7
8 P 3k 2 34,283 1,586 9 0.6
9 i R 2 23,901 1,745 9 0.5
10 i 5 g2 19,296 1,386 3 0.2
11 1% E 2 155,418 3,134 23 0.7
12 T = g 75,353 7,016 36 0.5
13 E = R 238,498 13,621 78 0.6
14 M = I B 62,937 1,553 14 0.9
15 E3il BT = 17,466 510 2 0.4
16 = L 2 9,143 1,192 10 0.8
17 Ve JII = 10,952 1,352 6 0.4
18 12 H =2 10,477 203 2 1.0
19 L 34 2 9,988 777 2 0.3
20 P 55 = 17,883 555 4 0.7
21 153 B =] 25,288 1,611 15 0.9
22 &% [if] g2 42 473 2,097 12 0.6
23 o pal| 2 156,228 5,657 22 0.4
24 = ) =] 16,679 684 3 0.4
25 i3 = g2 20,714 494 4 0.8
26 = # FiF 13,753 1,589 7 0.4
27 X IR T 111,394 2,106 10 0.5
28 = JES g2 76,414 1,474 11 0.7
29 = B 2 20,338 871 1 0.1
30 M oFHw oy B 12,026 558 3 0.5
31 B B g2 6,654 258 3 1.2
32 5 ikt 2 7,626 82 1 1.2
33 [i] L = 24,428 280 3 1.1
34 I 5 g2 24 474 335 2 0.6
35 L m| 2 15,356 138 - 0.0
36 & = =] 6,930 312 1 0.3
37 F Jil 2 12,698 878 7 0.8
38 B b 2 17,526 375 15 4.0
39 = yal| = 8,993 217 1 0.5
40 12 [if] 2 47,767 1,021 11 1.1
41 & =i 2 4,407 147 1 0.7
42 pis I} g2 7,478 231 3 1.3
43 AE X 2 8,053 446 1 0.2
44 X yi) 5 14,367 381 11 2.9
45 = i =} 27,114 273 1 0.4
46 BE R B B 11,367 955 9 0.9
47 s 13 2 19,691 391 4 1.0
#EFFESET 1,595,656 64,461 415 0.6
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*t R B|Z 2 BlIBGHI1EFHIESNT-F (%)

(N) (AN) (N) C
A A B (BA % 100)

(F18)

48 L 1% il 0 — - —
49 il a8 [l 15,050 — - -
50 = WV 1= F 1R 21,240 907 0.7
51 T = il 17,505 1,871 11 0.6
52 1 P it B 40 - 0.0
53 JI| 5 il 0 — - —
54 H B R T 12,433 299 5 1.7
55 b3l i [it] 0 — - —~
56 &% [if] il 0 — - -
57 P A il 11,900 118 - 0.0
58 % @ E T 0 — - —
59 = 1 il 0 — - —
60 X IR ol 40,357 235 - 0.0
61 IR h 0 - - -
62 i P h 23,821 507 3 0.6
63 [if] L il 9,996 92 1 1.1
64 = 5 il 3,429 13 — 0.0
65 &t R MW T 3,117 58 1 1.7
66 & fit] [it] 0 = - -
e EER T ET 158,848 4,140 27 0.7
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HBsii[E&EEIZH VTR Z £2) =
= £ BIIEHIEHESAI-E (%)
(AN) (N) C
A B (BA x100)
1 it piir bl 11,267 202 1.8
2 = Fo =] 2,922 70 24
3 =) F IR 10,351 125 1.2
4 = 3k g 5,250 57 1.1
5 N H IR 795 12 15
6 il i 12 6,042 50 0.8
7 & 5 g2 10,714 87 0.8
8 % 15k =] 10,108 77 0.8
9 i R = 7,999 63 0.8
10 iE 5 =] 7,340 34 0.5
11 15 E3 2 29,619 239 0.8
12 T = g 31,440 258 0.8
13 R = R 98,260 869 0.9
14 T 22,786 227 1.0
15 E31] = g 5,220 48 0.9
16 = L g2 1,081 6 0.6
17 A JI| =] 3,056 24 0.8
18 12 H =3 3,779 39 1.0
19 L &4 g 6,876 75 1.1
20 s o g 8,225 41 0.5
21 153 B =] 4,750 34 0.7
22 &% [if] = 14,378 140 1.0
23 o pal| 2 21,014 164 0.8
24 = = 4,422 29 0.7
25 % =i 2 2,064 21 1.0
26 R R FF 2,426 17 0.7
27 X R 5 22,885 211 0.9
28 i JES = 27 446 264 1.0
29 = B =] 1,817 17 0.9
30 Mm oFH o B 3,121 20 0.6
31 5 B 2 2,236 51 2.3
32 5 it 2 1,434 15 1.0
33 [i] il 2 6,805 64 0.9
34 I 5 2 9,735 128 1.3
35 L A 2 1,228 19 15
36 1= 5 g 1,534 11 0.7
37 & JI| g2 4414 36 0.8
38 = g g 4,672 47 1.0
39 = yal| 2 1,298 10 0.8
40 12 [if] = 8,341 82 1.0
41 & i 2 4,962 81 1.6
42 £ 53 =} 5,170 82 1.6
43 AE i ! 4,362 61 14
44 N ) B 6,910 82 13
45 = I =] 2,237 28 1.3
46 BE R B B 10,952 123 1.1
47 P e 5 4,278 116 2.7
MEFESE 467,624 4,556 1.0
(2)40BREZUN DR RE~DIRFZ GEEH )
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= £ ZIGHIEHESAI-E (%)
(N) (N) C
A B (B./Ax100)
(FH18)
48 AL 15 it} - - -
49 il = [it] - - =
50 S W = F 16,985 135 0.8
51 T = itl 568 6 1.1
52 & E il 1,691 28 1.7
53 JI| 5 il - - -
54 H OB E®E Th 5772 63 1.1
55 b3l i [it] - = =
56 5% [if] [ii] - - -
57 P A il 177 — 0.0
58 % B E | - - -
59 il #h [it] - = =
60 X I il 6,098 47 0.8
61 R il - - -
62 G B il 9,320 94 1.0
63 [if] L [it] 1,877 21 1.1
64 I5 E il 235 3 1.3
65 dt A M T 2,449 25 1.0
65 & ] [it] - - -
e EER T ET 45172 422 0.9




(1) 40i% 1852 (AR EMT )

ERR22FE CEIFRVAILAREERER

[IR7E. CRUFFRDAILRIC B &% F FE

*t R B|Z 2 FH| BRELTWDE[REMENEDH T (%)

(N) (AN) SV EFIESNT=E (AN) D
A B C (C./B x100)
1 it piir | 43526 859 4 0.5
2 = F ] 9,292 515 1 0.2
3 =) ¥ g 11,651 1,033 3 0.3
4 = 3 g2 30,649 1,469 22 15
5 N H g2 11,835 554 1 0.2
6 L % ! 12,329 554 - 0.0
7 & = =} 30,543 997 1 0.1
8 % b5k =] 34,283 1,586 1 0.1
9 i /N 12 23,901 1,752 - 0.0
10 i 5 = 19,296 1,390 4 0.3
11 1% E3 =} 155,418 3,135 6 0.2
12 ¥+ = 2 75,353 7,021 18 0.3
13 ] R R 238,498 13,588 18 0.1
14 s = 8 62,937 1,559 4 0.3
15 E311 BT 2 17,466 510 — 0.0
16 = il = 9,143 1,193 - 0.0
17 A Jil g2 10,952 1,348 1 0.1
18 & H =3 10,477 209 - 0.0
19 L ! g 9,988 780 3 0.4
20 £ o g2 17,883 555 - 0.0
21 5z B 2 25,288 1,614 2 0.1
22 &% [if] =} 42,473 2,099 8 0.4
23 = pal| g 156,228 5,670 5 0.1
24 = =] 16,679 684 4 0.6
25 i3 = g 20,714 493 - 0.0
26 m & 5 13,753 1,591 1 0.1
27 X i FF 111,394 2,102 3 0.1
28 i & =] 76,414 1,473 13 0.9
29 = B =] 20,338 872 1 0.1
30 M oFH o B 12,026 558 - 0.0
31 5 B =] 6,654 258 - 0.0
32 5 Vi =] 7,626 81 - 0.0
33 fit] il =] 24,428 280 2 0.7
34 I 5 g2 24 474 334 - 0.0
35 L | =] 15,356 138 - 0.0
36 & 5 2 6,930 312 - 0.0
37 F JI| ! 12,698 876 1 0.1
38 g I B 17,526 375 - 0.0
39 = yal| 2 8,993 217 - 0.0
40 12 [iF] =2 47,767 1,018 1 0.1
41 & 1 IR 4,407 146 2 1.4
42 s 5 12 7,478 232 - 0.0
43 AE X =3 8,053 445 11 25
44 X pil =1 14,367 382 5 1.3
45 = I 1= 27114 275 1 0.4
46 BE R B B 11,367 992 1 0.1
47 s b =2 19,691 400 - 0.0
MEFESE 1,595,656 64,524 148 0.2

(1)40m%1%32 JEE &P )

[IR7E. CRIFFRDIAILRIZ B &% F FE

*t R B|Z 2 | BRELTUVSAEEMABH T (%)

(AN) (AN) S EHIESNT=EF (N) D
A B C (C/B % 100)

(H18)

48 L 1% [it] - - - =
49 iy =1 it 15,050 - - —~
50 S W = F 21,240 907 - 0.0
51 T = Ol 17,505 1,871 6 0.3
52 i i il 7<ER 40 - 0.0
53 JI| % [i] - - - =
54 2 & FE T 12,433 299 1 0.3
55 E311 i [it] - - - -
56 &% [if] [i] - = - -
57 B A ol 11,900 119 - 0.0
58 % & B W™ - - - -
59 = i [it] - - - =
60 X Ui Ol 40,357 235 — 0.0
61 iR [it] - = - -
62 P B il 23,821 507 1 0.2
63 [if] il [l 9,996 92 - 0.0
64 I = il 3,429 13 - 0.0
65 X A W T 3,117 58 — 0.0
66 12 fit] [it] - - - -
e EER T ET 158,848 4,141 8 0.2




(2) 40ERARFZ LI DR RE~ DR (FRERR)

MR7E. CRFXVAILRIC S & =

-2 E FH | BELTOAETEEEAEH T (%)

(AN) SO IEHESNE=E (N) C

A B (B.~Ax%100)
1 it i ] 11,337 67 0.6
2 = F =] 2,926 9 0.3
3 = ¥ = 10,397 49 0.5
4 = 3k 2 5,251 28 0.5
5 N H g 797 6 0.8
6 L % 2 2,492 13 0.5
7 &2 5 =] 10,703 58 0.5
8 P 1k ! 10,112 60 0.6
9 i X g 7,981 44 0.6
10 iE 5 g 7,331 90 1.2
11 1% ES 2 29,622 181 0.6
12 ¥+ =3 g2 31,433 321 1.0
13 ] n FR 98,043 774 0.8
14 Mmo= ) 8 22,907 163 0.7
15 E311 R = 5,220 18 0.3
16 = il g 1,080 6 0.6
17 v Ji| =2 3,057 19 0.6
18 12 H = 4,277 47 1.1
19 il 54 g 6,782 83 1.2
20 £ g g 7,264 28 0.4
21 53 B g 4,764 24 0.5
22 5 [if] 2 14,386 130 0.9
23 o pal| = 21,185 181 0.9
24 = £ =2 4,421 29 0.7
25 3% =i 2 2,063 22 1.1
26 Il 1 5 2,431 16 0.7
27 X B FF 22890 172 0.8
28 = JES 2 27,440 261 1.0
29 o B g 1,814 15 0.8
30 M oFw oy B 3,092 20 0.6
31 5 i) 2 2,236 19 0.8
32 5 Jics g 1,434 15 1.0
33 fif] il =1 6,777 63 0.9
34 I 5 2 9,585 66 0.7
35 L A g 1,230 13 1.1
36 & 5 g 1,533 5 0.3
37 F Jil 2 4,414 43 1.0
38 B g g2 4,608 24 0.5
39 = pal| g2 1,299 18 1.4
40 12 [if] 2 8,303 62 0.7
41 % =i 2 4544 103 2.3
42 yos 5 2 5173 20 0.4
43 AE X 2 4,357 83 1.9
44 X 2l g 6,247 56 0.9
45 = I} = 2,202 3 0.1
46 BE R B B 11,193 86 0.8
47 hia 3 g2 4,285 8 0.2
ZERFREET 462,918 3,621 0.8
(2)A0FBREZUN DR E~DIREZ JEEHH)

[R7E. CRIFF &9 1ILRIC & =) =

= E FH| BLELTOAATEEENEH T (%)

(N) S EHFEEN=E (N) C

A B (B.~Ax%100)
(F18)

48 L 1% [it] - - =
49 i = il - - =
50 S LY = itl 16,985 104 0.6
51 ¥+ =3 it 568 7 1.2
52 i E il 1,691 15 0.9
53 JI| 53 [it] - - -
54 R il 5772 38 0.7
55 b3l i [it] - - =
56 5 [if] [it] - - -
57 A A il 179 2 1.1
58 % T [it] - - -
59 R i [it] - = -
60 X Ik il 6,098 37 0.6
61 3 H — _ —
62 H B il 9,320 51 0.5
63 fit] il Ol 1,869 18 1.0
64 1N 5 ol 235 2 0.9
65 it X1 i1l 2,449 7 0.3
66 12 [if] [it] - - =
e AR AT 45,166 281 0.6




AV ABREZISOVTOREREAE - BEREHDOETHEIRE

(BB EFFE)
BEHE B +E E% |
EheBEl1%k ([E) SEANE(N) Ehe 1%k ([E) SMNEANE(N)
1 it i el 34 1,692 167 480
2 = F =] 41 1,904 51 404
3 =) F = 20 1,667 8 44
4 = 171 g 21 961 9 19
5 N H 2 4 69 31 14
6 i Z =} 10 260 34 62
7 & 5 g 20 709 43 334
8 P 3k ! 81 2,956 163 1,195
9 i /N g2 - — 15 18
10 ii: 5 B 2 38 47 54
11 1% E 12 - — 14 14
12 T = g 1 90 247 380
13 * R B - - 181 244
14 M = ) B - — 1 1
15 E3il pE g2 - - 8 8
16 = L g2 1 26 12 251
17 Ve JiI 5 - — 20 171
18 12 H g 1 23 37 73
19 L 3 g2 2 64 57 139
20 P g5 2 151 721 38 238
21 53 B g 77 736 260 469
22 &% [if] B 5 212 36 172
23 g pal| 5 2 51 16 149
24 = E] =] 1 22 10 34
25 i =i g - — 47 330
26 = e FF - - 9 9
27 X IR KT 195 6,176 151 471
28 = JES 2 1 85 39 742
29 3 B ! 7 207 8 16
30 M o o4 & 6 251 10 10
31 B i) g2 1 7 1 2
32 5 1B 12 27 1,224 26 120
33 [i] L g 70 2215 20 584
34 I 5 2 6 270 10 118
35 1L m| 12 29 334 10 70
36 & 5 g2 1 16 3 3
37 & Jil g 8 492 2 2
38 o B =3 1 17 15 18
39 = yal| g2 - - 8 9
40 12 [if] =] 488 2,874 284 538
41 & =i 2 8 199 52 1,526
42 £ 3 g 1 64 - -
43 AE X 2 1 55 26 30
44 X y2) 12 11 372 - -
45 = 3 g 62 969 86 503
46 BE R B B 174 4,962 171 1,710
47 s b 12 - — 166 1,784
#EFFESET 1,571 32,990 2,649 13,562

(f5E#R™)
BEXE R BEHE &% |
Ehe 1%k ([E) SEANE(N) EheBE1%k ([E) SMNEANE(N)

(B#)

48 AL 1% [it] - - - -
49 il = il - - - -
50 S Ly = F th - — 13 13
51 T+ = [it] - - 215 215
52 i P il - - - -
53 JI| 3 il - = - -
54 H B JE T - - _ -
55 E311 i il — - _ —
56 |7 [ it} = = = -
57 P VA [i] - = - -
58 %2 B E W™ - = - -
59 |® i it} = - = =
60 PN B [ii] 176 5,847 - -
61 1R il - - - -
62 |4 B - - - -
63 |fH L i = = = =
64 |Ix 5 it} - - - -
65 dt A M T 483 2774 254 418
66 12 [if] [it] - = - -
e EER T ET 659 8,621 482 646




HETF IR ERZ 7 Sitia R
(BB ERTIR)
BEIFRXRIVAILREE CRFXIAMILRERE
22 2 A T4 &% % £2) ZRyZEZEEBHERIR & |\ FH E
A (N) (%) A (N) (N) (%)
H D
G (F/E x 100) A B C (B.”A x100)
1 t &/ E 1,982 1,903 40 1,346 10 1,336 0.7
2 T 5 B 3,159 3,078 2.6 1,490 15 1,475 1.0
3 = F & 2,827 2,785 15 1,975 1,966 0.5
4 = W & 571 564 1.2 358 1 357 0.3
5 MR B 569 568 0.2 569 2 567 0.4
6 W & & 532 9 523 1.7 128 — 128 0.0
7 g B B 3,661 0 3,631 0.8 3,614 35 3,579 1.0
8 x W OB 1,008 3 1,005 0.3 848 2 846 0.2
9 W K & 277 2 275 0.7 275 1 274 0.4
10 B B B 5 - 5 0.0 5 — 5 0.0
11 H £ B 2,659 2,630 1.1 2,604 11 2,593 0.4
12 T % R 0 = = - - - -
13 B R A 9,990 9,945 0.5 9,991 11 9,980 0.1
14 #mE)E 363 362 0.3 363 1 362 0.3
15 7 a8 B 0 — — - - - -
16 E WL B 0 — - - - -
17 A )| B 34 34 0.0 34 34 0.0
18 2 H B 144 142 1.4 124 122 1.6
19 W 8 7,945 7,869 1.0 7,907 70 7,837 0.9
20 £ B 1,479 1,455 1.6 540 19 521 3.5
21 g B & 480 477 0.6 481 481 0.0
22 B M B 452 450 0.4 452 448 0.9
23 T M B 10,719 10,630 0.8 8,584 95 8,489 1.1
24 = =] 31 31 0.0 31 31 0.0
25 3 B B 0 — - - - -
26 m OB O 770 762 1.0 770 766 0.5
27 X R 5,258 5,210 0.9 5,261 30 5,231 0.6
28 E E B 1,705 1,691 0.8 1,705 21 1,684 1.2
29 = B B 14 14 0.0 14 14 0.0
30 s 1,069 1,065 0.4 721 714 1.0
31 E R B 2477 2,421 2.3 2477 31 2,446 1.3
32 E B B 4518 4,468 1.1 4,541 115 4,426 25
33 M B 0 - - - - - -
34 L & B 1,868 1,830 2.0 1,868 4 1,864 0.2
35 g 8 29 27 6.9 30 1 29 3.3
36 m 5 B 443 440 0.7 254 3 251 1.2
37 E Il B 64 62 3.1 64 - 64 0.0
38 T E B 153 153 0.0 149 1 148 0.7
39 = % B 3 3 0.0 3 — 3 0.0
40 2 BB 170 167 1.8 173 3 170 1.7
41 5 8 B 1,072 1,062 0.9 1,076 7 1,069 0.7
42 k i B 297 295 0.7 291 2 289 0.7
43 BE K B 370 364 1.6 370 4 366 1.1
44 X 7 R 0 = = - - - -
45 = Kk B 408 402 15 408 6 402 15
46 ERER 169 169 0.0 167 — 167 0.0
47 o B 838 826 1.4 84 2 82 2.4
FEFEES 70,582 69,793 1.1 62,145 529 61,616 0.9
(f5xE &™)
BEIFRXRVAILREE CRFXRIAMILRARE
2 A T4 % % B = ZEEGMHEER Kt FR E H E
(N) (%) (N) (N) (%)
H D
G (F/E % 100) B C (B./A %X 100)
(B#)
48 i - = = = = =
49 w = = = = - = =
50 SWVFEH = = = = = =
51 F E H - - - - - -
52 ] - - - - - -
53 JIl B th - = - - - -
54 HERERS - = = - - -
55 i TH - = = = = =
56 5 S o - = = = = =
57 S /NI ] = = - - - -
58 ZH B = = = - = =
59 = # T = = = - = =
60 X Br T = = = = = -
61 3 5 - - - - - -
62 Vi = ] - - - - - -
63 [ I A = = = = = -
64 L B T - = = - - -
65 I = = - - - -
66 8 [ ™ = = = = = =

5 E #bh &t
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